POWER EQUIPMENT

Part #:
Description:
Date:

920X
SCZ Hitch Installation
5/3/2010

Instructions for Installing the SCZ Hitch

ignition key and disconnect the spark plug wires. Maintain all safety related work
procedures. Always wear eye and hand protection.

3/8-16 Elastic
Stop Nut

Prepare the machine so there is easy and safe access to the work area. Remove the

L -3/8-16x 1-1/4"
Bolt

Figure 1. SCZ Hitch Mounting

Remove the center bolt and serrated flange nut securing the skid plate to the rear
bumper. See Figure 1. Discard original hardware.

3. Install the hitch to the center bolt hole using (1) one 3/8-16 x 1-1/4" hex head bolt, (1)
3/8" flatwasher and (1) one 3/8-16 elastic stop nut. See Figure 1. Tighten hardware
securely.

4. Atthe time of delivery, operational and safety instructions of this accessory should be
explained thoroughly to the customer. See SCZ Operator's Manual.

r w

ADANGER MWARNING
MAXIMUM TOWED WEIGHT
To avoid injury from burns, allow the mower NOT TO EXCEED 250 LBS
to cool before removing the hardware and DO NOT CARRY PASSENGERS
installing the hitch. ||!!|| READ THE OPERATOR’S MANUAL

. J — 482610

y Zz:
LZZ7

Y
z& z

ZzZ

Z2Z

277

9 Flatwasher




